BOARD OF INTERMEDIATE EDUCATION KARACHI

Market Mark Street	DOWNERS.	
PAGE	NO.	
INGL	110	

SUBJECT:

ATTENDANCE OF BIDDERS TO WITNESS THE OPENING OF FINANCIAL PROPOSAL FOR HIRING OF SECURITY SERVICES

NOTES & ORDERS

Attendance of Bidders or their representatives, with the remarks that on $\underline{06\text{-}03\text{-}2025}$ at $\underline{11:30~\text{AM}}$ all the Financial Proposals were opened before us and with the observation that all the required codal formalities in accordance with the SPPRA rules were completed in the process of Opening of Financial Proposals for Hiring of Security Services.

S.NO	NAME OF BIDDER / REPRESENTATIVE	NAME OF THE FIRM	SIGNATURE		
01.	Qasim Raza	M/S, FAMS SECURITY SERVICES (PVT.) LTD.	Salt 1		
02.	Wayas Mehmocol	M/S. RANGERS SECURITY GUARD (PVT.) LTD.	ago) es		
03.	Abdul Hofaz Klar	M/S. NATIONAL POLICATION FOUNDATION SECURITY SERVICES (PVT.) LTD.	神雪上		



Board of Intermediate Education

Bakhtiari Youth Center, North Nazimabad, Karachi - 74700

Phones: 99260211 99260212 99260213

MINUTES OF MEETING

MINUTES OF THE MEETING OF PROCUREMENT COMMITTEE HELD ON 06.03.2025 AT 11.30 A.M. TO OPEN THE FINANCIAL PROPOSAL INVITED FOR HIRING OF SECURITY SERVICES

A meeting of the Procurement Committee BIE Karachi was held on 06.03.2025 at 11.30 a.m. in the committee room of Board of Intermediate Education Karachi, under the Convener-ship of Deputy Secretary, BIE Karachi, to open the Financial Proposals invited for Hiring of Security Services for the Board of Intermediate Education Karachi, Following attended the meeting and marked their attendance on EPADS through OTP:

Mr. Shujaat Hashmi Deputy Secretary/Deputy Controller of Examination, BIE, Karachi.

Convener

Mr. Tariq Abrar

Member

Director Physical Education, BIE, Karachi.

Mr. Arif Hussain Jalbani I.T. Officer/I.T. Manager (Acting), BIE, Karachi.

Member

Mr. Asad Ahmed Khan Afridi Deputy Director,

STEVTA,

Member Member

4. Mr. Najaf Ali Mughni System Administrator, Abbasi Shaheed Hospital. Karachi.

The Technical Proposals was opened by the Committee as on 17-01-2025 in presence of bidding firms and declared that all firms has been qualified and the Committee decided to open their financial proposals at a later date (Minutes of Meeting annexed at "A" & Qualification/Eligibility Report annexed at "B").

With the approval accorded by the Competent Authority of BIE, Karachi, the intimation letter has been issued to the qualified bidders to attend the meeting scheduled to be held on 06-03-2025 in order to open the financial bids

Accordingly, the financial bid was opened on 06.03.2025 by the Committee in the presence of participants (Attendance Sheet of bidders for opening of Financial Proposals annexed at "C") and item wise rates quoted by the technically qualified bidders were announced loudly in presence of the representatives of bidding firms. The Committee has prepared the detailed comparative statement (Comparative Statement annexed at "D").

The summarized position of the Financial Proposals is given as follows:-

					EX-ARM	IY MAN			
s.no	DESCRIPTION OF ITEMS	OTY	M/S FAMS SECURITY SERVICES (PVT.) LTD.		M/S. NATIONAL POLICE FOUNDATION SECURITY SERVICES (PVT.) LTD.		M/S. RANGER SECURITY GUARD (PVT.) LTD.		
			Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Menth)	
1	Armed Security Guards (Ex-Army-Man) Day and Night	22	51,730	1,138,060	NQ		NQ		
2	Security Supervisor (Day & Night) (Ex-SSG Personnel)	2	51,730	103,460	NQ		NQ		
3	Lady Searchers (Day Shift)	1	51,730	51,730	NQ		NQ		
TOTAL (Per Month)			1,293,250		-		-		
	TOTAL (Per Year)		15,51	9,000					
			CIVILIANS						
S.NO	DESCRIPTION OF ITEMS	QTY	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	
1	Civillan Guard (Day & Night)	22	43,023.40	946,515	42,809	941,798	45470 00	1,000,340	
2	Security Supervisor (Day & Night) (Ex-SSG Personnel)	2	43,023 40	86,047	44,309	88,618	48125.00	96,250	
3	Lady Searcher (Day Shift)	1	43,023 40	43,023	42,809	42,809	45470 00	45,470	
	TOTAL (Per Month)		1,075	5,585	1,07	3,225	1,142	,060	
	TOTAL (Per Year)	12,907,020		12,878,700		13,704,720			
	3% Bid Security (Submitted by the Bidder	3)	466,000		386,361		411,141		

During the scrutiny of financial bids of M/s. Rangers Security Guard, monthly rate of Supervisor wrongly mentioned in the tender documents, which needs to be rectified. Besides, the representative of Ms. Rangers Security Guard rectified the same on the tender documents, however, the Bids was already been submitted by the bidder through the EPADS.

Accordingly, the Committee was requested to the representatives of the above bidders to show their Security personnel's before the committee in order to finalize the contract in the best interest of the organizations, upon the request of committee, all bidders showed their personals before the committee. Committee called the one by one security personnel of the bidder, in order to check the quality of security persons as well as weapons. After that the Committee appreciates the M/s. Rangers Security Guard to show their trained security persons and agreed to provide the all trained Security Personals will be deployed in the Board.

Committee the called the security person of M/s. National Police Foundation Security Services, who have showed their security person untrained as compared to M/s, Rangers Security Guard, committee not satisfied of quality of security personals of the said firm. It is further mentioned M/s. National Police Foundation Security Services was awarded to the contract during last year's, their services was not up to mark, for which the BIE. Karachi has already been informed to the contracting firm as on 16.05.2022 "Non-compliance of terms & conditions of contract agreement".

Committee called the bidder namely M/s. FAMS Security to show their security personnel, besides, the Committee was not found the security person as per the Board requirements, so therefore, the Committee not satisfied due to which all guards showed the overage and not trained persons.

After detailed discussion Committee recommended that the contract shall be awarded to the M/s. Rangers Security Guard, on the basis of best evaluated security service and with the condition that they will provide the security service to the Board as needed.

RECOMMENTION:

Committee recommended awarding the contract to M/s. Rangers Security Guard, on basis of best evaluated security service and with the condition that they will provide the security service to the Board as needed, falling which the contract will be terminated prior one month notice.

The meeting ended with a vote of thanks to and from the Chair.

(ARIF HUSSAIN JALBANI)

I.T. Officer/ I.T Manager (Acting) BIE, Karachi (Member)

(TARIQ ABRAR)

Director Physical Education BIE, Karachi (Member)

(ASAD AHMED KHAN AFRIDI) **Deputy Director**

> STEVTA (Member other than PA)

(NAJAF ALI MUGHNI)

System Administrator Abbasi Shaheed Hospital, Karachi (Member other than PA)

(SHUJAAT HASHMI)

Deputy Secretary / Deputy Controller of Examinations BIE, Karachi

(Convener)



Board of Intermediate Education

Bakhtiari Youth Center, North Nazimabad, Karachi - 74700 Phones:

99260205 99260214 99260207 99260219

BID EVALUATION REPORT

1)	Name of Procuring Agency	Board of Intermediate Education, Karachi
2)	Tender Reference No.	BIE/AG/L&N/1285/2025 dated 07-01-2025
3)	Tender Title.	Tender for Hiring of Security Services
4)	Method of Procuring	Single Stage – Two Envelopes
5)	Tender Published:	Tender Notice posted on Website of EPADS (SPPRA) vide Sr. No. S-250161306
6)	Total Bids Documents Sold	03
7)	Total Bids Received:	03
8)	Technical Bids Opening Date:	31-01-2025
9)	No. of Bids Technically Qualified:	03
10)	No. of Bids Rejected	Nil
11)	Financial Bid Opening Date:	06-03-2025

M/s. Rangers Security Guards (Pvt.) Ltd.

			CIVII	Remarks	
S#	DESCRIPTION OF ITEMS	QTY	Rate (Per Person)	Amount (Per Month)	-
1	Civilian Guard (Day & Night)	22	45470.00	1,000,340	ate
2	Security Supervisor (Day & Night)(Ex-SSG Personnel)	2	48125.00	96,250	Best Evaluated
3	Lady Searcher (Day Shift)	1	45470.00	45,470	st
	TOTAL (Per Month)		1,142	,060	ğ
	TOTAL (Per Year)		13,70	4,720	

Following members of Procurement Committee has recommended to accept the best evaluated bid in favor of successful bidder including all Govt taxes.

Committee Members Signature		Committee Members	Signature	
(ARIF HUSSAIN JALBANI) I.T. Officer/ I.T. Manager (Acting) BIEK, Member	An	(TARIO ABRAR) Director Physical Education BIEK, Member	Ch,	
(ASAD AHMED KHAN AFRIDI) Deputy Director STEVTA Member other than Procuring Agency	My Mid.	(NAJAF ALI MUGHNI) System Administrator, Abbasi Shaheed Hospital, Member other than Procuring Agency	43	
Convener		Signature		
(SHUJAAT HASH Deputy Secretar Deputy Controller of Ex BIEK, Conven	y/ amination	Joseph .		



COMPARATIVE/FINANCIAL STATEMENT

HIRING OF SECURITY SERVICES 2025 Financial Bid Opening Date 06-03-2025

			EX-ARMY MAN						
s.no.	. DESCRIPTION OF ITEMS QTY	OTY	M/S. FAMS SECURITY SERVICES (PVT.) LTD.		M/S. NATIONAL POLICE FOUNDATION SECURITY SERVICES (PVT.) LTD.		M/S. RANGER SECURITY GUARD (PVT.) LTD.		
		V	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	
	Armed Security Guards (Ex-Army-Man) Day and Night	22	51,730	1,138,060	NQ		NQ		
	Security Supervisor (Day & Night) (Ex-SSG Personnel)	2	51,730	103,460	NQ		NQ		
3	Lady Searchers (Day Shift)	1	51,730 51,730		NQ		NQ		
	TOTAL (Per Month)		1,29	3,250				-	
TOTAL (Per Year)		15,519,000				-			

s.no.	DESCRIPTION OF ITEMS		CIVILIANS						
		QTY	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	Rate (Per Person)	Amount (Per Month)	
1	Civilian Guard (Day & Night)	22	43,023.40	946,515	42,809	941,798	45470.00	1,000,340	
2	Security Supervisor (Day & Night) (Ex-SSG Personnel)	2	43,023.40	86,047	44,309	88,618	48125.00	96,250	
3	Lady Searcher (Day Shift)	1	43,023.40	43,023	42,809	42,809	45470.00	45,470	
TOTAL (Per Month)			1,075,585		1,073,225		1,142,060		
TOTAL (Per Year)		12,907,020		12,878,700		13,704,720			
	3% Bid Security (Submitted by the Bidders)		466,000		386,361		411,141		

(ARIF HUSSAIN JALBANI) I.T. Officer/I.T Manager (Acting) BIEK, Member (TARIO ABRAR)
Director Physical Education
BIEK, Member

(ASAD AHMED KHAN AFRIDI)
Deputy Director
STEVTA

Member, other than PA

my

(NAJAF ALI MUGHNI) System Administrator, Abbasi Shaheed Hospital, Member other than PA (Oi

(SHUJAAT HASHMI)

Deputy Secretary/

Deputy Controller of Examination

BIEK, Convener